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MLIN MLIN MLIN MLIN
PORT ID=TL1 ID=TL2 ID=TL3 ID=TL4
P=1 W=1.73 mm MSTEP$ W=15.5 mm MSTEP$ W=1 mm MSTEP$ W=15.5 mm MSTEP$
Z=50 Ohm L=10 mm ID=TL6 L=5 mm ID=TL7 L=12.4 mm ID=TL8 L=5 mm ID=TL9
MLIN MLIN MLIN MLIN
PORT ID=TL10 ID=TL11 ID=TL12 ID=TL13
P=3 W=1.73 mm W=15.5 mm W=1 mm W=15.5 mm
Z=50 Ohm L=10 mm L=5 mm L=12.4 mm L=5 mm
D—W — e E a _——
MSUB
Er=3.48
H=0.762 mm
T=0.017 mm
Rho=0.7
Tand=0.004
ErNom=3.48

Name=RO/R0O4350B1
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MLIN

ID=TL5 PORT
W=1.73 mm P=2

L=10 mm Z=50 Ohm
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MLIN

ID=TL14 PORT
W=1.73 mm P=4

L=10 mm Z=50 Ohm
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